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PREVIEW QUESTION BANK(Dual)

Module Name : Education
Exam Date : 19-Jun-2023 Batch : 09:00-12:00

Negativ

Sr. | Client Question . .
Question Body and Alternatives Marks Marks

No. ID
Objective Question

L1901 The following table shows the number of employees working in four different colleges A-D. along with number of males . females.

teaching males, teaching females. non teaching males and non-teaching females among them in a given year. Some values are missing it
the table (marked as '-' ) that you are expected to calculate if required. Based on the data in the table answer the questions that follow.

College-wise details of employees

Number of
Collage ) Male Female [Teaching Blee Teaching| Non-
Emplovees g ) Teaching 2
Employees|Employees| Males Females |[Teaching
Males

A 756 526 - 325 - - -

B - - - 215 - 254 -

c - 159 - - = N -

D 224 142 82 - o - N

In College A. if the number of non teaching females is 2 more than half the number of teaching females. then the difference between not
teaching males and non-teaching females is

. 130
123
. 120
118

S A
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fFafataa difaer 3 fedt af 9r fafta meifaenadl A-D ¥ S1Ra Sraial o1 9 3R gy, afgdl. 5o e, afg Rie.
TR-Rigr oy SR TR-Rierd ofeansit 3t rem <l 2 21 59 T & oo 7 (-F 39 F ffta ) T Ru g & fome
o, afe 3raxae €. fear T nféd €1 59 afaeT & st & YR W 9 Eu v & S S

HHAIRG! BT HEaeay-aR &R
=
A 736 526 = 325 = =
B - - 215 | - 254
C - 159 =
D 224 142 82

713 HEliaaa A T IR-Riee qigarsl & G Rig Afgarsi o 9@ & oY 9 2 39 g, a1 TR-efd g2l 3R IR Rigs
wfgansii & df &1 W fFaTe?

. 130
123
. 120
. 118

[

S
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A4

Objective Question
2 1902
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The following table shows the number of employees working in four different colleges A-D. along with number of males . females.
teaching males, teaching females. non teaching males and non-teaching females among them in a given year. Some values are missing it
the table (marked as '-') that you are expected to calculate if required. Based on the data in the table answer the questions that follow.

College-wise details of employees

Number of

Collage ) Male Female [Teaching Blee Teaching| Non-
Emplovees g ) Teaching 2
Employees|Employees| Males Females |[Teaching
Males

A 756 526 - 325 - - -

B - - - 215 - 254 -

& - 159 - - = - =

D 224 142 82 - - - -

In college B. if the number of non-teaching males is 26 more than the teaching males. the difference between the number of non teachin,
males and non teaching females is 122, and the number of males is greater than the number of females, Then the number of employees i

768

867

748

1829

Fafataa aifer § it o 9r faftm meifaenadl A-D ¥ Srika sl o1 9 ok qey, afgdl. 5oy Rie, afg Re.
TR-RIgf o9 3R TR-Rigp Aleans] $1 I8 SRl 715 ¢ | 59 difereT 8 $8 7H (- 30 8 [&fd ) 7ai Ry T & e
aReeH, ate SiTaxae g1, fobar ST Sfé §1 39 Il & sifdsi & SR TR 4 f&u 7o vsi & S i)

AR &1 HeGaTy-aR &R

o =

IS )

T
TR e e R T
HHART fe® . | e
A 756 526 = 325 - - -
B - - - 215 |- 254 -
C 3 159 2 B = 3 2
D 224 142 82 E . 5 -

af meTfderer B H TR-Rierp gou B1 e Rigs Tl o1 6@ 3 26 31fi ¢ 3R R-Riempgest 2R 7R - Riae Afeaad 1
W1 P = BT R 122 7 3R TN D J=1 wieared o1 G ¥ o B, d eranidl o1 W b 8

. 768
. 867
. 748
. 829

S
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A2
A3

3

Aty
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4

Objective Question

31903 | The following table shows the number of employees working in four different colleges A-D. along with number of males , females.

teaching males, teaching females, non teaching males and non-teaching females among them in a given year. Some values are missing it
the table (marked as '-' ) that you are expected to calculate if required. Based on the data in the table answer the questions that follow.

College-wise details of employees

Number of
. Non- :
Collage ! Male Female |Teaching - |Teaching| Non-
Employees 3 N Teaching :
Emplovees|Employvees| Males Females |[Teaching
Males

A 756 526 - 325 = = -

B - - - 215 - 254 -

& - 159 - - - - -

D 224 142 82 - - - -

If the number of females in college C is 147 more than the number of females in College A and the sum of teaching males and teaching
females in College C is 115, then the sum of non-teaching males and non-teaching females in college C is

421

415

467

435

afaiEa drfaser I fedl af 9r fafts merfaeradl A-D ¥ Srivd Sl &1 9 3R goy, afgdl, gy e, nfgd Qe
IR-Refe g2 3R TR-Refp Aigasl Hi G gl 75 ¢ | 3 diicie! ¥ $8 7H (- ¥U ¥ [&f5d ) 781 3y 7 & e
qRaH, Tfe Mawad g, fdr IFT 2mféd 1 59 aifad & 2fidel & YR TR = f3u U uelf & I Siforg|

HHAING! B HEaeay-aR SR

o =

Lo

=
R R
REIEEIGE] Higan | e, Rierd

GZ:EIRl s . | e
ﬁ?ﬂiﬁ HHART | g8y e Hfgemn feet

A 756 | 526 - [ 35| - - -

B - - - 215 | - 254 -

€ - 159 : : : : i

D 24 | 142 82 : - 3 :

afe mgIideney ¢ ¥ nieaisi & W veilaare A T nfgensi o §@ g 147 3ive g R geiiaany ¢ ¥ Qe goul $ik
fRiare Afgena &1 W@ &1 arT 115 8, Al Teiiaeney ¢ ¥ 1R-Rigd goy 3R 1R-Reid nfgansi $1 wean o1 g fod &-

421
415
467
435

[

F

Al

A2

A3
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Objective Question

4 1904 e following table shows the number of employees working in four different colleges A-D, along with number of males . females.

teaching males, teaching females. non teaching males and non-teaching females among them in a given year. Some values are missing it
the table (marked as '-' ) that you are expected to calculate if required. Based on the data in the table answer the questions that follow.

College-wise details of employees

Number of
Collage Male Female |Teaching 1-_\011_— Teaching| Non-
Emplovees g 5 =|Teaching = 2
Emplovees|Emplovees| Males Females |[Teaching
Males

A 756 526 - 325 - - -

B - - - 215 - 254 =

o - 159 - - - - -

D 224 142 82 - - - -

In college D. if the number of teaching females and non-teaching females are equal and the number of teaching males is 5 more than the
number of teaching females, then the difference between non-teaching males and non-teaching females i3

224

102

55

1.79

ot arfee o fedt af 9rR fafts merfaeradl A-D ¥ rivd eyl &1 9@ 3k qoy, uiga, gy e, nfge Rem.
TR-R1gfe goW 3R TR-Refp Aigansli H1 G a2id] 75 & | 5 difcie! ¥ $© 7H (- vU ¥ [&fwd ) 761 f3u 7 € o
aR@eH, ale saxae g1, foar ST Sféd &1 59 aifereT & sifdsi & SMUR TR 4 fau 7u usi & SR i)

FHHAING! o1 Headay-aR SR

B e

=
- el
EHIGEIRE] Hfedr (e, f2raim

HHAR! e . | fRrems
a?aiﬁ FHHART | T3W Loy Afgag e

A 736 326 = 325 = = -

B - - - 213 - 254 -

& 2 159 E 2 = 2 &

D 224 142 82 - - - -

afe weifaerem b 7 e afgarsd R IR- e afgms ot wem a0 § 3R e goul ot e Rie afsarsd ot de
5 3t 3. 1 IR-Rrerd gou! ok TR- e afgensi & dta &1 siox fha 82

224
102
55
79

Fai

S

Al
1

A2,
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A3

Ay

4

Objective Question

> 1905 | The following table shows the number of employees working in four different colleges A-D. along with number of males ., females.

teaching males, teaching females, non teaching males and non-teaching females among them in a given year. Some values are missing it
the table (marked as '-' ) that you are expected to calculate if required. Based on the data in the table answer the questions that follow.

College-wise details of employees

Number of
. Non- :
Collage ! Male Female |Teaching - |Teaching| Non-
Employees 3 N Teaching :
Emplovees|Employvees| Males Females |[Teaching
Males

A 756 526 - 325 - - -

B - - - 215 - 254 -

C - 159 - - - - -

D 224 142 82 - = B N

The number of teaching males in College D is 46. If 124 males from college A of whom 62 are non-teaching. are transferred to college I
then the new number of non-teaching males in college D is.

124

.62

.158

166

afataa arfae o fedt af 9r fafts merfaemadl A-D ¥ Srikd el &1 9@ 3R goy, uig, gy e, nfge Qe
TR-Refe goW 3R TR-Riefp Aigansli H1 G guid] 75 & | 59 difcie ¥ $8 0H (-3 ¥U ¥ [&d ) 781 3y 70 & o
IReaH, e MawaS o. fohar ST 3aféd § 1 59 difereT & Sifes! & 31YR W 1 fEu 7w usi & 3R Sifsm|

HHAING! T HEIaeag-aR SR

o b o=

T=m
R R
EHIGEIRE] Higa | e, Rraf®

FHARI [EEED . | e
o e |

A 736 326 = 325 = = N

B - - - 215 B 254 -

& . 159 Z : = . E

D 224 142 82 E = : 2

TeTfaeey D ¥ e qout Bl U 46 7 | afe Heifaered A F 124 goNT 5 9 62 TR- e € o1 Aeifaeney b & wiHaRd
&R (31 Sl & o verdarerd D H IR- g goul &1 A I e sl

1. 124
2.62

. 158
. 166

S

Al
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A2
A3
A4

Objective Question
6 1906 Which of the following are the prominent features of self-directed learning?
A. Self monitoring
B. Taking ownership learning
C. Remedial teaching
D. Teacher oriented
E. Extension of learning

Choose the correct answer from the options given below:

C and E only

. A.Band E only
.A.Band C only
.C.D and E only

@ R siftrm & Faffaa & S oH-aH § v sifiraen &

A. X 3Alg
B. ST &7 Wi &A1

C. IUARTHD f2requr

D. 1&g It
E. 3Tt &1 famar

A feu T fasedl 9 98l SR &1 994 pifo:

b =

Lo

1. Fad C ARE

2.%9d A.B3R E
3.%9d A. B3R C
4.%99 C.D3IRE

fxl
A2
A3
fM

Objective Question
7 11907
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Which of the following are the examples of Learning Management System (LMS)?

A. Kahoot
B. Canvas
C. Canva
D. Moadle
E. Padlet

Choose the most appropriate answer from the options given below:

B and D only
. A, B and C only
.B. Cand E only
.Band C only

Frafeiea o 9 siftnTn e Yol (Te U0 UH) & SH-8 1 § a8 82

A. Pge
B. $-a9

C. PAal
D. 54
E. USdc

+id fau T fasedl O 9§ Hel 3R BT 9g- BIfo:

R

1. %ad B3R D
2.%ad A.B3IRC
3.%9d B.C 3R E
4.%ad B3R C

Al

A2

A3

A4

Objective Question

8 1908 | Which of the following factors influencing learning are not related to content?

A. Readiness and will power

B. Organisation of the contents or learning experiences
C. Basic potential of the learner

D. Nature of the contents or learning experiences

E. Mastery over the subject matter

Choose the most appropriate answer from the options given below:

.A. B and D only
.A.Dand E only
.Cand D only

.A. Cand E only

b =

Lo
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T 1 T B4 I P E A S I PR Ivg-a5g I Tefa T8 €

A. IR 9 g1 i

B. fawa o 3yar ey Srjydl & S
C. SftTHSdl Bt g &

D. faug g% 31yar 3Fyd of Ugid

E. faug g% R HgRd

19 fau ¢ famedl & U 9ol IR &1 90 Sifoig:

1. %A A, B 3R D
2.%9d A. D IRE
3.%9d C 3RD

4.%ad A, C 3RE

Al

A2
A3

A4

4
Objective Question

9 1909 | Given below are two statements:

Statement I:In short term memory, the sensory information is preserved and retained in the form and shape as it was originally received

Statement IT: In immediate memory , sensory information is subject to a process of encoding for being retained in the form of special
visual and auditory impressions. symbols. signs and words.

In the light of the above statements. choose the most appropriate answer from the options given below,

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement II are incorrect

3, Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct

EIEEARAICAC K
B 1: T SHald i T Hadl ga1 o S 39 3R HHR o WRiEd g uiqarid foar S g o 98 go v 3 0 g8

B I1; AIepTiae Hid 1 Hadt Ga1 [aRy Tee @ yo wyial, wdiel, el @ el & $u 1 nfauiikd feu o & i geaxur &
Tfpar & e B

SWRIc S & Haie 1, - 3u 1Y fadedl ¥ 9 96l Iugad ok &1 999 DITU:

. PYT 1 AR 11 ST T8 8
PYF1 AR 11 ST I ST &
PYFITEI . AfPT PUF I Tad §
@Y 17107 8, AT YT 11 T8 §

b =

S )
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A2
A3

A4

10 1910

Al
A2
A3

A4

11 1911

1
2
3
4

[

&

Objective Question

b =

L

b =

E V)

Objective Question

. Cheating
. Tantrums
. Lying

. Truancy

. Quasi- experimental research
. Observational research

. Subjective research

. Anthropometric research

&S HTHYTH
fawaiay srggur
 OadR g

19_Live_Education_B1_E_1-150.html

The study of the behavior of humans and non humans in the natural environment without any manipulation of variables is called

=R T 1o ol UPR & §3-UR & 191 Uplceps aTmaRul & Hial 3R IR-HHal & SIagR 2 o Hedldl 82
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The absenteeism related behavior in which children willingly make themselves absent from the classroom or outside classroom activitie:
of the school without the prior permission of their parents is called as:

U9 STl Saef IagR &I (99 T I T 551 oldl § fordd a9 3= H1a-id &1 gaigafd & a1 SHad o) B4 siyal
faemer &t Se I aTeR & fafafial ¥ s wEd 82
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Al

A2
A3
A4

Objective Question

1271912 1 studies involving human subjects. there could be short or long term changes in participants because of psychological changes like

boredom and fatigue. This would constitute which of the following threats to internal validity?

1. Maturation threat

2. History threat

3. Selection threat

4. Instrumentation threat

S sremT | AT B1d © B0 38 3R YT o FAIa91-e TRad-1 & SR WiaHIiE & Sieddiies a1 Sdaiies
qRac &1 99d © | 399 3MdR® Judl i FEfrad 5 Q&9 9 GaR sl 22

gy el G
Sider ded @
ELEEICLIRERE

JYH Yl Gl

[

& e

Al

A2

A3

A4

4

Objective Question

13 11913 1) the submission of thesis. if a student is found to commit plagiarism of level 3 as per UGC Regulations 2018 on Plagiarism, the

following penalty will be imposed-

. Student shall be debarred from submitting the revised thesis for a period of one year
. Student's registration for that programme shall be cancelled

. Student shall be debarred from submitting the revised thesis for 6 months

. Students shall be asked to submit the revised thesis within 6 months

uﬁﬁ?@f%@iﬁquﬁﬂWHﬁ%wm%ﬁww e IR1 ¥ Falid goile A 2018 & SR WR 3 &1
iigfde IR 1 8. dl 39 R Fafeiad & 9 1= 91 JHiH1 Sl S

L2 =

Lo

1. faemf &1 e od &1 sraft & forg Snfia 2Ny Uey TR ded 9 A a1 s
2. 39 UT6d B & for faeneif o1 deiiex v o fan s

3. faenf &1 6 AT8 & fory ST 2y Uey URqd B 9§ A (a1 Jmam

4. faenf o1 6 T1E P iR INMEQ Wy Ty T B3 & oL Hel ogm
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:A1
A2
A3
A4

Objective Question

14119141 A statistical test that permits assessment of possible significance of difference across means of multiple groups, is

. Student's t-test

. Analysis of variance
. Paired t-test

. Chi-square test

%Bmuﬁ&mﬁﬂ%m 3 GHEI & THUMI & a9 R B GUIGd Iidhd] BI S ar [al o Fahdl 5. 71 Heard

R S

1. EocH - ¢
2. TR fawersor

3. gffd t- <%
4. PTS-aFt TRIE

Al
A2
A3
A4

Objective Question

15 1915 | Given below are two statements:

Statement I: A dependent variable can never be dichotomous.

Statement IT: An independent variable is always dichotomous.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement II are incorrect

3. Statement I 1s correct but Statement I is incorrect
4, Statement I 1s incorrect but Statement II 1s correct
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e P UM E:

BUFI: HfHd TR B! 1 fguoll 781 81 gpan

HYF 11: WA R 94 G TSl gl g

TWRIG DY & 3HTai T, 143U T fasedi T 9 969 Iuged Jok &1 98 HITIU:

A1 AR el B

DY AR 1S IS ST ®
YT 1 Tel . AfPT PUF I Tad ©
DY 1T §, Al PYT I I8 &

b =

S Y

Al
A2
A3

Ad

4

Objective Question

16 11916 ' The communieative structure, according to the Frankfurt school. that reflects the social order is called

. Custom

. Public sphere
. Convention

. Culture

e whe T (FpeT) & TR SUNUIED 1 o7 HHTfore ool o1 wiafefad @l & 34 Pel Wil ¢

[FVI SR

4

1. 3fq fas
2. @® Hed
3. 3T

4. P
fAl
.AZ
.A3
Ay

4

Objective Question
17 1917
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Which of the following terms is used to deseribe human communication behavior related to personal space?

. Contextuality

. Referentiality

. Confidentiality
. Territoriality

Frafafaa § $-01 98 fdaTa @ 3 Jafid OFg TUY0 aeR &1 auiE Sl o7

B

1. Giafiesdr
2. Ffed
3. TG
4. yyrfigar

Al

A2
A3

A4

4

Objective Question
18 11918 ' \hich of the following are true of kinesics, a type of non-verbal communication?
A. Kinesics does not convey any meaning.
B. Kinesics does not reflect the social system of an individual.
C. Body movements of an individual have potential meanings.
D. Kinesics can be subject to systematic analysis.
E. A person's body language is part of his social system shared with others.

Choose the correct answer from the options given below:

. A. B and C only
. B, Cand D only
.C.D and E only
. A. D and E only

Frafafed § -8 IR Oife® Iy & U6 UHR & 30 § SPfeoa i s aR § 38 22

A. Tferrafas @i 3 Juftd 78f avar g

B. 3Tfaaarafas foodht aafaa & amfoe aogwn &1 ufafdfed T8l sare

c. ot sofaa 3t siiffie w1l fparsli & grafidq sf fAfeded &

D. TSGR yoe’ 9 fawemur & fawa 8§ g &

E. U% oifdk] & YRIR® IaUId B TR UINT ZIR P 1Y AT D1 715 3T AHID oael 1 YR §

| ]

L

1 f3u 71U fdeedl O ¥ 9l 3R &1 944 I

1. ¥aAA, B3R C
2.%ad B.C3RD
3.%dd C.D3IRE
4.%ad A.D3IRE
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A2
A3
A4

Objective Question

19719191 Given below are two statements:

Statement I: The Buddhist communication theory is simple and one sided.

Statement IT: The Buddhists understand communication as social and moral act.
In the light of the above statements, choose the correct answer from the options given below.

. Both Statement I and Statement II are true
. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

i <l Py QU U &:

DU I g WOl R WURT SR TP RpT

HU I1: Sl TUNI H1 U THIID qUl Afd® b & 39§ ad §1
SWRIT By & Sl 3, - [3U T fadedl § 3 9ad Sugad SR &1 99 DU

|

HYFIAR 13RI ®
CFYT IR 1A T E
PYT IR, AT PYT I 3T ®
P I I E. AfPT P I II®

[ S

e

Al

A2

A3

A4

Objective Question
20 1920
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Match List I with List IT
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Non verbal oo
R Description
communication
A loculesics I [Movement and position of the whole
bodv to tell a story
¥ i '\. - 9 r
B. IMimics i P lovement _of arms and hands only to
tell something
C. |Pantomimics I11. [Eve movement
D lGestins v [Movement of face only to irritate
someone

1. A-L. B-II. C-IV. D-III
2. A-IIL B-IV. C-1. D-II
3. A-ILL B-II1. C-1IV. D-I
4. A-IV. B-L. C-I1. D-III

Choose the correct answer from the options given below:

et 1ep1 g 11 9 T iforg

el

=0

AR wiwom
A

EER)
|emiie 1 [§OUl TRR @1 Tiadi SR U]

mid fagE | o [yoer 9w gt @1 T

B.
C. [T G| 1L [543 71
D. [Ap1H@Er wexiE| v, [ Hie

1. A-1, B-II, C-IV, D-I11

2. A-II. B-IV. C-1. D-1T

3. ATl B-IT1. C-IV, D-1

4. A-IV. B-1. C-11, D-I11
Al
1
A2 5
2
A3 5
3
Aty
4

Objective Question
21 1921

dcc_ba ad ccba a

.bacab
.cacba
.checab
cacda

ba =

Lo

fafiRad faeedl O I Ol IR &1 9u4 Biforg

Find the correct sequence of five (5) missing letters which will complete the following letter series:
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T (5) T &R BT HET o5 H 1 B forT8 FAfarad sieR g gof gt se:

dec_ba ad ccba a

bacab
.cacba
.cbcab
.cacda

L SR

Al

A2

A3

A4

Objective Question

22 1922 1f'TABLE is coded as '45' in a certain coding scheme how the word '"CHATIR' will be coded ?

44
.43
42
.40

fopeit ecias TSI § 'TABLE @1 '45' & %9 H Hexiad [l 741 5. 'CHAIR' X[s8 & &4l Gexiad (a1 oiei 2

=

e

44
43
42
40

Fone ol i

Al

A2

A3

A4

Objective Question

23 1923 Two numbers are such that their product is equal to 21 and the sum of their squares is 58. find the difference between the two numbers

B
OO On Lh
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&1 Gy Tt & S U e 21 % SRR © 3R 3% 97 &1 41 58 €1 & sl P & 3R 91d S

[V I N

el o
o o

Al
A2
:A3
A4

Objective Question

241924 1 A man purchased some oranges at 4 oranges for 27 and sold them at 7 oranges for 13, Thus. he gained Z30 in all. The number of orang:

he bought is:

252
280
308
4.336

Pl AT 704 P R AP IR WIS RIE T 13T 731 XY &7 3011 Ty I8 T 30 BT A1 UK 53| IHD GRI VR
T2 TRl B e [l 62

[

S Y

252
280
. 308
336

i

Al
A2
A3
A4

Objective Question

25 1925 | A train leaves station P at 6 AM and reaches station Q at 10 AM. At the same time (i.e. at 6 AM) another train leaves station Q and reach

station P at 9.30 AM. The two trains cross each other at

1. 8 AM

2.812AM
3. 7.40 AM
4. 7.52 AM
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e ¢ PEIRE U 6 AM TR Fecl § SR QRIH W 10 AM R Ug il ¢ | I T (37fd 6 AM TR ) TR ¢ Q WA U Fedli
AR 0.30 AM TR WRHE PUGHdI ¢ | &I ¢ U IR Pl [ g0l IR B2

Al
A2
A3

Ay

4

Objective Question

26 1926 Arrange the following group of terms in order of decreasing extension.

A. Mammal
B. Animal
C. Tiger

D. Feline

Choose the correct answer from the options given below:

b=
P
> oW
Oroo
[ Nelw)

=W
w0

@]

fATRET wIsg THEl &l a%ad & 3faviel H 1 ouaiyd Sifoy

A, IOt

B. Y]
o115]
D. fasm@

1 fSu Tt f[dedl O ¥ 91 3R &1 994 I

ol el
@O
F o
CEScNe
nwnd

Al
A2
A3

A4
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4

Objective Question

27 1927 Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Deductive arguments are either invalid or valid.
Reason R: A valid deductive argument that also has all true premises is called a "sound" argument.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 18 NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

12 &l Y= fAU U B, U MDY (Assertion A) & U T fAREd € ol GER1 IHD BRI (Reason R)d 39 T
By A: TS gfdat ardr sey gidt § @ dy St B

BRUIR: 3¢ FHATHS gide o Gl SR 919 9 §1d ©. 98 8149 gfad dgardi gl

SR B & SHales o, - 3T 1Y faepedl ¥ 3 9ad Sugad SoR &1 99 DIy

 AJRRIA TS € IR R AT TE IR ©

A JRRIA TS € IR R, A TE! IR0 Tal ©
AT AP R IR A B

AT TSR AT RIG R

R

Al
A2
A3
A4

Objective Question

28 1928 nSyitzerland is 48 percent protestant. Heidi Gilsing is a swiss. Therefore, Heidi Gilsing 1s 48 percent protestant. Which fallacy is

committed in this argument?

. Hasty Generalisation

. Fallacy of composition
3. Ad Hominem

4. Begging the question

%ﬁﬁ wioed v 81 g13e! Fifc ue Raw amike §1 59 g szt ffcsn & 45 wfoma wewe g1 sugaa S o
il ?

2 =

SR IR
. Hefd gy

. afa foRie & fam
ST g

o =

EES V)

Al
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A2
A3

A4

4

Objective Question

29 1929 Identify the formal fallacy committed in the following argument. "All household pets are domestic animals. No unicorns are domestic

animals. Therefore some unicorns are not household pets".

. Existential fallacy

. Denying the antecedent

. Affirming the consequent

. Drawing affirmative conclusion from negative premises

frafafad ofdd & sreiie dd g &f Rifed P, <@ Tew uraq e ug ¥ B 1 teyth me 0g 761 21 safom o
U U U el 617

2 =

S Y]

. HfETaRS dhar
. edard FuE gy

. moaray fayHE gy
FhytE SnuR 919l @ WieRED ey Hwan

o =

IS Y

Al

A2

A3

A4

4
Objective Question

30 11930 Given below are two statements:

Statement I:According to classical Indian School of logic (Nyaya) all fallacies are material fallacies.
Statement IT: Nyaya syllogism is deductive- inductive but not formal- material.

In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement I are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II 1s correct

2 =

S Y]
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E a P UM E:

TYA I YR AT 19 7 & AR T ahey aiqR® ad gy gl

B I1: TG AT FTHES SRS gl ¢ [ STHIRS a¥quR® ol eidl
SWRIdd Y & Hdie 1, =i 34U 1Y fadedl T 9 9ad Iugad 3ok &1 94 SITHU:

HYTI AR I SH TeI §
Y1 IR I Gel el §
.Y [ FeT &, A HU= 11 TTad ©
YA 17TeTd ©, Wifch U 11 TEl &

b2 =

o

Al

A2

A3

Ay

4

Objective Question

311931 yyhich of the following statements is correct about Internet of Things (IOT) that can create a smart environment by having an

interconnected network of hardware devices. sensors, connectivity and required software?

. Every IoT device or item must be connected using UTP cables.

. IoT environments cannot be monitored and controlled remotely.

. The Internet connectivity is not essential for an IoT setup to function.
. Modern smart mobile phones cannot be connected to an IoT setup.

TSR giaqdl & 3id: Haltd "ead, GR1, Prfaeide! 3R Hag® AFeawR & gRI U FIE TR P Joi- PR 0+ aldl ge%
T 1T (M2 3ieh) & IR B FEfafed & ¥ oF 91 $YF 81 &7

O

1. U 315 31ST gfd sryar O g ¢l Ul el & W ¥ SHi-ar $U oSl gl anigu
2. AME3NE IRAY B R F FRE 7 Frizon 7€ fvar o aaar 31

3, TS 3N Te3a &1 H1 HE & o0 Sexne BAfaefaet AfHard T8l § 1

4, SYAH W TEST BHI DI LT J2AT H T8 SIST o Hbal 5|

AL
1
A2 5
2

A3
3
My
4

Objective Question
32 1932
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Identify the correct sequence of the following computer storage components A-D in the descending order of their access speed (from
fastest to slowest)

A. Cache memory
B. Main memory
C. Magnetic disk
D. CPU Registers

Choose the correct answer from the options given below:

T S
gnnpE
> W W
OWUU

S
AL
SBE
By
7]

ﬁ?ﬁﬁﬁ@ﬁ TIeR HESRH HYTH! A-D & 3] SHTH (THRH) 1A & aRIg! HHFER (diadd 3 Ja4 He) 931 o8 o ugdH
Biforg

A BT HA
BH@HHWQCT

D %ﬁtﬁwﬁﬂw
1 feu 7Y faoedl & 9 96l SIR &1 997 Diford:
1.ABC.D
2.C.B.A.D
3CB.D.A
4. D.A.B.C
Al
1
A2 5
2
A3
3
"y
4

Objective Question
33 11933
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In the following MS-EXCEL spreadsheet you are given a list of 100 customers. Column 'A’ represents their names . "B’ is for customer
category, 'C' for payment category (0 Means discounted price and 1 means full price), 'D' indicates price that customer pay. The example

spreadsheet below is not the complete list and simply shown different categories .

A B C D

1 | Customer Name || Customer Category || Payment Category | Price(Rs)
2 Raman Child 0 0
3 Dinesh Adult 1 5
4 Jashan Adult 0 2
101 Amit Child 0 0

Statement I: The formula = COUNTIFS (C2:C101. "0") counts all customers who get discounted price.
Statement IT: The formula = COUNTIF (C2:C101, "=0") Counts all customers who get discounted price.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is frue but Statement II is false
4. Statement I is false but Statement IT is true

-t 1 7T UH O Uadd SIS Eiie 3§ ST 100 ARSI B =l 4l 715 &) BIH A" H S M ©: 'B' U6 AU & [T B 'C' 1T
SRt & 70 (0 1 312 § ST DA iR 1 31 372 § G0 pIHA): D AEP &R &l B 715 HId B SH1d ol o) o Tseie

SeTeRv qul g el & Sk U 9 fafirs Afowi awidi 8

A B C D

1 e 41H e Yufl T Ul HiAd
2 T Child 0 0
3 e Adult 1 5
4 EEG| Adult 0 2
101 g Child 0 0

HYT I: A = COUNTIFS (C2:C101, "0") 37 T UTEH| &I T0HT Fal § folgi- SeITd SIAd gobTg |
HYF I0: A = COUNTIF (C2:C101, "=0") 37 T UTEH! &I 101 FXal & orei- SgFTd BIAd olg
SRITT YA & A J, 9 g T fowe & 9 w6t IR &1 997 T

L PR 1A 9d &
2. U1 3R 1 3AT I &

3. PYTITA S, AT HUT I ITT &
4. P HTI L. AP HYT I T &

Al
A2
fx3
A4

Objective Question
34 1934
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Which of the following memory/storage devices are considered as offline storage ?

A. Hard disk drive (HDD)
B. Blu-ray disk
C.DVD/CD

D. USB memory stick

Choose the correct answer from the options given below:

. A.Band C only
.A. Cand D only
.B. C and D only
VA.B.CandD

Fafaiad o 9 4 fo |ia JsRu gfdaal @1 $i® aga HSRu aHET o 82

A. TTS &% 31549 (Tasiah
B. i

c. St dt SIS

D. g U §l HARI e

i fau T fasedl § 9§ Tl 3R BT 90 Bifoid:

L2 =

du Lo

1. $AAA. B IR C
2.%ad A.C3IRD
3.®dd B.C 3R D
4. %09 A.BC IRD

Al
A2
A3

A4

Objective Question

Match List I with List IT

LIST I- Type of
computer network

A [LAN L

LIST II - Description

The Internet 1s an example of this

tvpe of network.

This tvpe of network 1s found m a

B. [MAN II. |building but is connected without

cables.

This tvpe of network 1s found ma

[building but is connected with cables

This tvpe of network 1s found ma

D. [WLAN IV. |geographic region of the size of a
Imetropolita.n area

C. [WAN I

Choose the correct answer from the options given below:

1. A-IIL B-IV. C-1. D-II
2. A-L B-IV. C-III. D-II
3. AL B-L. C-IV. D-II
4. A-II. B-IV. C-1. D-III
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Al

A2

A3

A4

36 1936
dat,

37 1937

3
4

et 11 g 11 9 e Siforg

el 1 ey 31 US| T 11 (aawun

A fegu 1. [Eeedc SH UBR & cdo & 3agiv 6l

B. (AU 11 [39 YR @1 4cad Ha- H Uil 9id] & U= 96 dadl o (941 oLs! sidl o
c [esquua 111 [39 U®R ®1-cqd Had 3 91 A1dl ¢ U3-d 96 dad § 9ol aidl g

D. [T UET | IV. [58 UPR &I 12qe U HEFH'RIY PR B HITIKID & H Urdl i g |
FafaRad famedi § 9 98l SR &l 99 DI -

1. A-IIL B-IV. C-I. D-II
2. AL B-IV. C-ITI. D-II

4

4

Objective Question

e has been the

. Rio Summit

. Montreal protocol

1
2
3. Kyoto Protocol
4. Paris agreement

------- of

Objective Question

AL B-L C-IV. D-II
AL B-IV. C-1. D-III

YT XY Y & Jd TSN HIP! 3 - U IR gl YT o FHTTAT 31751 TP BT T A Ja e JDeT SHRIpig Faiaxm
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Full form of PCB, an air pollutant, is

1. Poly chlorinated Biphenyl
2. Poly chlorinated Benzene
3. Per chloro Biphenyl

4. Per chloro Benzene

U® IR WS¥F . PCB B0 34 A A A A

gl FeifAfes aRihagd
Uil geifves Soib

. TR TR 915 [thAsd

IR AR S

b =

E V)

Al
A2
A3
A4

Objective Question

38 11938 | Given below are two statements:

Statement I:Biodiesel can be created from vegetable oils and animal fats.

Statement IT: Biodiesel viscosity is significantly lower than that of petroleum diesel.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3, Statement I is correct but Statement II is incorrect
4, Statement I 1s incorrect but Statement II 1s correct

TR AP RU T E:
HYA I I i 3R U 391 4 SIS Ioid a1 & Sl o |
THYF I1: TS P H U gy Sed ¥ &%l A gl g |

SR Y & Hdie 1, i [3u T fadedl ¥ 9 963 Iugad Sok &1 949 ST

e 1 SR T A W€ R

U1 AR A EE R
 FHYT 1Tl §. A U 11 TEd ©
4. BYFITEd 8. AfbT YT 1 T8I 8

[ 3%

L¥¥]

Al
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A2
A3
.A4

Objective Question
3911939 1 waste water treatment. biological processes are employed to remove mainly
A. Bacteria
B. Suspended solids
C. Fungi
D. Colloidal

E. Soluble organic compound

Choose the correct answer from the options given below:

. A. B and C only
. D and E only
. B and D only
. C. D and E only

HURIY We IUER § 5 1 § qerayl o a1 52 & (o wifdes Wisharsi &1 s faan orar g2

b =

S V]

A. STy
B. Udifed o1 uerd
C. FIH

D. DIIgS
E. ga=iTd prae aifie

A1 feu e fosed! § 9 98! SR &1 994 pifog:

1. PAAA, B3R C
2.%ad D 3RE
3.%dd B 3IRD
4. HAAC. D ARE
Al
A2
A3

A4

Objective Question
40 1940
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Hydrofluorocarbons (HFCs), replacements of ozone depleting substances chlorofluorocarbons (CFCs) were also decided t
be phased out during copenhagen-1992 conference

Reason R: HFCs have shorter lifetime than CFCs and contain no Chlorine and bromine

In the light of the above statements. choose the correct answer from the options given below.

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is NOT the correct explanation of A
. A s true but R is false

. A 1s false but R is true

2 & P fAU U §. % YU (Assertion A) & $9 T AT 8 o GERT 9UD PRI (Reason R)& ¥4 T

HIUHUF A: BIUAETH-1002 T P SR G aerd BRI Ty FRl WRIBTE-H (CFCs) BT Uia=iItd H- ard
BIESIRRIBIE-H (HFCs) B 1 TRUEE dlid 4 e &1 oy femn mar o)

BRI R: CFC B JoT1 § HFC &1 @Y Siia S1el 81dl & 3R 5778 aaRi= d = g1 gl 31
SR B & 3Hadles H, - f3U 1Y faspedi ¥ 9 999 Iugad Ik &1 99 By

R

A JRRIF TR AN R AT WEI R ©
ARRET AT AR R, AP 9E R S ©
ATGI R AfPR AT
AIFIRAPIRII®

R R

Al

A2

A3

Ay

4

Objective Question

4119341 Which of the following commission/committee recommended the closure of substandard colleges before Independence?

. Raleigh Commission
. Hunter Commission
. Sadler Commission

. Hartog committee

8 7 g smam/Aff = Wdaar ¥ 95 SaHrS Jelaeed] Bl 6 $3- &1 SR o db

2 =

Lo

1. e AT
2. X 3T
3. USER {1anT
4, gretm fifa
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A3

Ay

4

Objective Question
42 1942 \Which of the the following were visualised by the National Policy on Education. 1986 vis-a-vis higher education?

A. Complete privatisation of higher education
B. Consolidation and expansion of institutions
C. Training of teachers

D. Development of autonomous colleges

E. Strengthening of research

Choose the correct answer from the options given below:

. A. B and C only
. A. Cand D only
.B.C.D and E only
.A.Dand E only

I 1111 & Haiy 5T e i 1086 H 5 1 & (o (659 1 AR ded1 Bl g A

A. 3= e &1 gt ofteeor
B. IR13{ T THF 9 fawR
c. Rrerent &1 wiRremon

D. WA Helideerdl o [aer

E. QMY BT eIl
-9 feu e faoedl & 9@ 9l SR &1 99 Difo:

R

1. PAAA. B 3R C
2.%49d A.C3RD
3.%49d B.C.D 3IRE
4. FaAA.D IARE

Al
A2
A3
A4

Objective Question

43 1943 | The Aim of National Education Policy. 2020. is to increase the Gross Enrollment Ratio in higher education by 2035 to:

.35%
. 26.3%
50%
. 40%

B
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1T e i, 2020 1357 © 1 I Ran S &7 & IHd TS (TRIGHT) ST BT TN DR 2035 TPmrmemememecns T e
I

35%
26.3%
50%
. 40%

PR RO

Al
A2
:A3
A4

Objective Question

44 1944 Given below are two statements:

Statement I: The earliest part of the British policy on education was to withdraw from higher education
Statement IT: The British policy completely supported the idea of mother tongue as the medium of instruction as against English.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement I are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement IT is true

i < Py RRu U &:

@Y 1 e Hedl fofew =ifd @1 srerds yrT 9= e @ &7 9 Ui ged BT

U T1: fSre1 il 3 SR & Teay & $U H 3ol & [dvs TIguIy & faaR &1 qul a2 fear o
SWRIT B & il o, - [$U T fapedl § o 9ad Sugad Sk &1 99 DITU:

FYFISR IS T §
HYF1 R LA T §

. PYT 1A S, AP DU ST ®
DY AT R, A PT P I I ®

[

S V)

Al
A2
A3

A4
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Objective Question

4511945 Who among the following ancient Indian Thinkers propounded five steps for the realisation of the meaning of a religious truth

(tattvakatha) which closely resembles notion of learning in Dewey's theory of education?

. Gotama

. Vasubandhu

. Kapila

Vachaspatimista

Fafafad o 9 59 yRdd faRe A aiitle 9a @@sun & o 31 4S89 U= Sari &1 wfadre far ar o 33t & e Rrst
% ST & ST & Srafie Te @ 8

O

e
ardey
FHiUa
aERgAahy

12

&

Al

A2

A3

A4

4

Objective Question

46 1946 | Read the following passage and answer question that follows:

One well-known description of parenting styles is based on the research of Diane Baumrind. Her early work focused on a careful
longitudinal study of 100 (mostly European American, middle class) preschool children. Though observation of children and parents anc
interviews with parents. Baumrind and the other researchers who built on her findings identified four parenting styles based on the parer
high or low levels of warmth and control.

+ Authoritative parents (high warmth, high control) set clear limits, enforce rules. and expect mature behavior. But they are warm wi
their children. They listen to concerns, give reasons for rules and allow more democratic decision making. There is less strict
punishment and more guidance Parents help children think through the consequences of their actions.

« Authoritarian parents (low warmth, high control) seem cold and controlling in their interactions with their children. The children a
expected to be mature and to do what the parent says. "Because I said so” There is not much talk about emotions. Punishments are
strict. but not abusive. The parents love their children, but they are not openly affectionate.

« Permissive parents (high warmth, low control) are warm and nurturing, but they have few rules or consequences for their children
and except little in the way of mature behavior because They are just kids".

+ Rejecting/Neglecting/uninvolved parents (low warmth, low control) don't seem to care at all and can't be bothered with controlling
communicating or teaching their children

Authoritarian. authoritative .and permissive parents love their children and are trying to do their best: they simply have different ideas
about the best ways to parent.

Baumrind's research study focused on

. All children

. high school children

. Pre- school children

. Middle school children

o o=

o
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TH-TIY0] St AT] BT TS ARG [9a=01 ST SIARS & 39T TR SR © | 3951 SRIAY® SR (™M) 100 (AHUHR
I AR, Aegaria) miaeed! g9 & Gaaid e g W Hisd U7l F=1 3R TTA1-0a1 3 H&for 7] J-10a1 &
FIETHR P T I GRS AR 37 SFHUHG A = Py 31 31 Sgran iR A1a1-far & et gd a0 & 9= a4
TR R TR IR 9Te=-9190 Q| 31 fogifed [
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Read the following passage and answer question that follows:

One well-known description of parenting styles is based on the research of Diane Baumrind. Her early work focused on a careful
longitudinal study of 100 (mostly European American, middle class) preschool children. Though observation of children and parents anc
interviews with parents. Baumrind and the other researchers who built on her findings identified four parenting styles based on the parer
high or low levels of warmth and control.

» Authoritative parents (high warmth, high control) set clear limits, enforce rules. and expect mature behavior. But they are warm wi
their children. They listen to concerns, give reasons for rules and allow more democratic decision making. There is less strict
punishment and more guidance Parents help children think through the consequences of their actions.

+ Authoritarian parents (low warmth, high control) seem cold and controlling in their interactions with their children. The children a
expected to be mature and to do what the parent says. "Because I said so” There is not much talk about emotions. Punishments are
strict, but not abusive. The parents love their children, but they are not openly affectionate.

« Permissive parents (high warmth, low control) are warm and nurturing, but they have few rules or consequences for their children
and except little in the way of mature behavior because They are just kids".

» Rejecting/Neglecting/uninvolved parents (low warmth, low control) don't seem to care at all and can't be bothered with controlling
communicating or teaching their children

Authoritarian. authoritative .and permissive parents love their children and are trying to do their best: they simply have different ideas
about the best ways to parent.

Authoritarian parents in their interactions with their children are all of the following EXCEPT

1. Not openly affectionate
2. Cold and controlled

3. Expect to be obeyed

4. Do not love their children
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Objective Question

48 1948 | Read the following passage and answer question that follows:

One well-known description of parenting styles is based on the research of Diane Baumrind. Her early work focused on a careful
longitudinal study of 100 (mostly European American, middle class) preschool children. Though observation of children and parents and
mterviews with parents. Baumrind and the other researchers who built on her findings identified four parenting styles based on the
parents' high or low levels of warmth and control.

» Authoritative parents (high warmth, high control) set clear limits, enforce rules, and expect mature behavior. But they are warm
with their children. They listen to concerns, give reasons for rules and allow more democratic decision making. There is less strict
punishment and more guidance Parents help children think through the consequences of their actions.

» Authoritarian parents (low warmth, high control) seem cold and controlling in their interactions with their children. The children are
expected to be mature and to do what the parent says, "Because I said 0" There is not much talk about emotions. Punishments
are strict. but not abusive. The parents love their children, but they are not openly affectionate.

» Permissive parents (high warmth, low control) are warm and nurturing, but they have few rules or consequences for their children
and except little in the way of mature behavior because They are just kids".

» Rejecting/Neglecting/uninvolved parents (low warmth, low control) don't seem to care at all and can't be bothered with controlling.
communicating or teaching their children

Authoritarian, authoritative .and permissive parents love their children and are trying to do their best; they simply have different ideas
about the best ways to parent.

Uninvolved parents .

. do not show warmth towards their children

. are non-communicative with their children

. do not care for their children

. are affectionate towards their children

. do not bother about controlling their children

monwe

Choose the correct answer from the options given below:

. A and B only
.A. BC and E only
. C. D and E only
.Band D only

R
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Read the following passage and answer question that follows:

One well-known description of parenting styles is based on the research of Diane Baumrind. Her early work focused on a careful
longitudinal study of 100 (mostly European American, middle class) preschool children. Though observation of children and parents anc
interviews with parents. Baumrind and the other researchers who built on her findings identified four parenting styles based on the parer
high or low levels of warmth and control.

» Authoritative parents (high warmth, high control) set clear limits, enforce rules. and expect mature behavior. But they are warm wi
their children. They listen to concerns, give reasons for rules and allow more democratic decision making. There is less strict
punishment and more guidance Parents help children think through the consequences of their actions.

« Authoritarian parents (low warmth, high control) seem cold and controlling in their interactions with their children. The children a
expected to be mature and to do what the parent says. "Because I said so” There is not much talk about emotions. Punishments are
strict. but not abusive. The parents love their children, but they are not openly affectionate.

« Permissive parents (high warmth, low control) are warm and nurturing, but they have few rules or consequences for their children
and except little in the way of mature behavior because They are just kids".

» Rejecting/Neglecting/uninvolved parents (low warmth, low control) don't seem to care at all and can't be bothered with controlling
communicating or teaching their children

Authoritarian. authoritative .and permissive parents love their children and are trying to do their best: they simply have different ideas
about the best ways to parent.

Authoritarian. authoritative and permissive parents have:

1. similar parenting styles

2. highly aggressive parenting style
. Dissimilar parenting styles

. Highly mild parenting styles
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Objective Question

50 11950 Read the following passage and answer question that follows:

One well-known description of parenting styles is based on the research of Diane Baumrind. Her sarly work focused on a careful
longitudinal study of 100 (mostly European American, middle class) preschool children. Though observation of children and parents anc
interviews with parents. Baumrind and the other researchers who built on her findings identified four parenting styles based on the parer
high or low levels of warmth and control.

« Authoritative parents (high warmth, high control) set clear limits, enforce rules. and expect mature behavior. But they are warm wi
their children. They listen to concerns, give reasons for rules and allow more democratic decision making. There is less strict
punishment and more guidance Parents help children think through the consequences of their actions.

« Authoritarian parents (low warmth, high control) seem cold and controlling in their interactions with their children. The children a
expected to be mature and to do what the parent says. "Because I said so” There is not much talk about emotions. Punishments are
strict. but not abusive. The parents love their children, but they are not openly affectionate.

» Permissive parents (high warmth, low control) are warm and nurturing, but they have few rules or consequences for their children
and except little in the way of mature behavior because They are just kids".

+ Rejecting/Neglecting/uninvolved parents (low warmth, low control) don't seem to care at all and can't be bothered with controlling
communicating or teaching their children

Authoritarian. authoritative .and permissive parents love their children and are trying to do their best: they simply have different ideas
about the best ways to parent.

Given below are two statements:
Statement I: Baumrind's study mostly focused on American middle class school children.
Statement IT: Authoritative parents allow greater democratic decision making.

In the light of the above statements. choose the correct answer from the options given below.

. Both Statement I and Statement I are true
. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4, Statement I is false but Statement II is true

b =
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S1 909001 g vitribai Phule can not be characterized as:

1. Poetess

2. Educationist

3. Social reformer
4. Political activist
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